@D TRANSTECTOR

Installation Instructions
DPR SHIELDED POE PROTECTOR

800.882.9110 | 208.772.8515 | www.transtector.com

"'spaau uoljoajo.d JNoA aAlas 0} BuiNUUOD 0} PJeMmIO) YOO| AN
"W09°10}09)SUBII MMM B IISqOM N0 JISIA 10 0LL6°288 008 e

s J0BU09 ases|d ‘Sulaouod JO SjUBWIWOD ‘suofsanb Aue aaey noA j|
'sn 0} Juepoduwli S| 82IA19S pue Jonpold INo YIIM UORORISIIES JNOA

‘Aluo uonesijdde ejep payoads uo |gpow yoes asn g
"'SNOILONYLSNI ALIAVS LNVLHOdII "L

‘uonn|os uonoajoid abins Ino Jo aseyoind Jusdal JnoA Joy NoA yuey | Bu IUJeAA



Installation Instructions
DPR Shielded PoE Protector

1. These products are intended for use only as a secondary protector on data
circuits.

2. Mounting the DPR Protection Modules: Mount the module(s) as close to the
equipment to be protected as possible.

2.1. DIN Rail Mounting: Attach the mounting clip to the DPR protection module
with the provided 4-40 screw & lock washer from the accessory kit. Attach the
assembled module to the 35mm DIN rail as shown in Fig. 2.1. To detach the
module from the DIN rail, lift up on the lever as illustrated in Fig. 2.2.

2.2. Rack Mounting: First, mount the DPR rack kit to a standard equipment
rack using 10-32 screws. Attach the DPR protection module to the rack with the
provided 4-40 screw & lock washer from the accessory kit as shown in Fig 2.3.

2.3 Wall Mounting: Rotate the mounting clip on the DPR protection module to
expose the auxiliary mounting hole. Attach the DPR protection module to the
desired surface using the auxiliary mounting hole and a #8 screw as shown in
Fig 2.4. Please note that the mounting surface must provide a path to ground
through the mounting clip.

3. Wiring the DPR Shielded PoE Protector:
3.1. Connect the DIN rail mounted DPR protection module to a nearby grounded
location using the shortest wire length possible. Alternatively, connect the ground
wire assembly on the front of the DPR rack kit to a properly grounded location
on the equipment rack. Suppressor(s) must be grounded for proper operation!

3.2. Connect the corresponding incoming data lines to the connectors labeled
‘LINE’ on the appropriate protection modules.

3.3. Connect the outgoing data lines to the connectors labeled ‘EQUIP’.

% COMRANSTEGIDS g || FRONT
INCOMING PROTECTION
DATA EQUIPMENT

—1.0[24.7]

3.7[93.2]

800.882.9110 | 208.772.8515 | www.transtector.com

DPR PROTECTION
MODULE

MOUNTING CLIP
Figure 2.1 #4 LOCK WASHER
4-40 SCREW

Figure 2.2
. 2001-213
Figure 2.3 DPR RACK
4-40 RETAINED SCREW
TORQUE TO 4 IN/LBS.
Figure 2.4

1200-480 Rev B




